
KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

1 of 12

Iteml No Description German Description English Pic. Sub-Parts 
No Sub-Parts Description QTY Retail 

Price (€)

HK001 3mm Chassis 3mm Main Chassis 1 66,00 €

HK002 Kraftstofftank Fuel Tank 1 22,90 €

HK003B Bat-Head Schaumstofframmer Bat-Head Foam Bumper (Hard) 1 6,30 €

HK100 2mm Carbon Oberdeck 2mm Carbon Upper Deck 1 34,00 €

HK101L 4mm Vordere Carbon Riemenspannungs Hub 
Halter links

4mm Front Carbon Belt Adjustable Bearing 
Hub Holder Left 1 9,50 €

HK101R 4mm Vordere Carbon Riemenspannungs Hub 
Halter rechts

4mm Front Carbon Belt Adjustable Bearing 
Hub Holder Right 1 9,50 €

HK102 3mm Vordere Dämpferbrücke 3mm Front Carbon Shock Tower 1 11,50 €

HK103 2.5mm Carbon Vordere Chassis Platte 2.5mm Carbon Front Chassis Plate 1 6,30 €

HK104 2mm Carbon Batterie Platte 2mm Carbon Battery Plate 1 7,40 €

HK105 5mm Carbon Hintere Versteifungsstrebe 5mm Carbon Rear Stiffener 1 5,70 €

HK106 2.5mm Carbon Hintere obere Getriebeplatte 2.5mm Carbon Rear Gear Box Upper Plate 1 9,50 €

HK107 2mm Carbon Bremsarm 2mm Carbon Brake Arm 1 5,20 €

HK108 2.5mm Carbon Sturz Platte 2.5mm Carbon Camber Plate 1 11,50 €

HK109 4mm Hintere Dämpferbrücke 4mm Rear Carbon Shock Tower 1 22,90 €

HK110L 4mm Hintere Carbon Riemenspannungs Hub 
Halter links

4mm Rear Carbon Belt Adjust Bearing Hub 
Holder Left 1 8,50 €

HK110R 4mm Hintere Carbon Riemenspannungs Hub 
Halter rechts

4mm Rear Carbon Belt Adjust Bearing Hub 
Holder Right 1 8,50 €

HK111L 2.5mm Carbon Brake Plate With 
Pad Left 1

HK111R 2.5mm Carbon Brake Plate With 
Pad Right 1

HK981 Spring For Carbon Brake 2

HK114 Carbon Riemenspanner Platte Carbon Belt Tension Stand 1 5,20 €

HK115 Carbon Bat-Head Adapter Carbon Bat Head Adapter 1 5,20 €

HK113 Cabon Middle Shaft Collar 2

HK116 Carbon Main Shaft Collar 6x8x2.7 2

Up-dated 
2010/05/18KM H-K1 Robitronic Parts Price List (sales)                                                              

Carbon Shaft Collar & Belt Tension Stand Set

Main Chassis & Fuel Tank & Foam Bumper

Carbon Parts

HK111 2.5mm Carbon Brake Plate with Pads (Special 
High Friction Material for Pads)

HK118

21,50 €

5,20 €

2.5mm Carbon Bremsplatten mit Belag, 2x 
Federn

Carbon Wellenadapterhülse



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

2 of 12

HK200 Front Diff Case 1

HK201 Front Diff Cover 1

HK211 Diff. Case O-Ring 1

HK933 FH M2.5 x 8 4

HK202F Front Diff.joint 2

HK487 D2 x 9.7 Pin 2

HK202R Rear Diff.joint 2

HK487 D2 x 9.7 Pin 2

HK217 Alum. Vordere Starrachse Alum. Front Soild Axle 1 8,50 €

HK200 Front Diff Case 1

HK201 Front Diff Cover 1

HK202F Front Diff.joint 2

HK203 Big Bevel Diff Gear 2

HK204 Small Bevel Diff Gear 4

HK205 Diff. Shaft 2

HK207 Big Bevel Diff. Gear Shims 2

HK208 Small Bevel Diff. Gear Shims 4

HK209 Outside Diff. Joint Shims 2

HK210 Diff. Gear O-Ring 2

HK211 Diff. Case O-Ring 1

HK460-24T Front Diff Pulley-24T 1

HK487 D2 x 9.7 Pin 2

HK933 FH M2.5 x 8 4

HK931 FH M2.0 x 5 4

Vorderes Diffgehäuse Set (Gehäuse, Deckel, 
O-Ring, Schrauben)

Vordere Diffausgänge (2 Stk.) + PinHK202FS Front Diff. Joint Set

HK200S Front Diff.case Set

HK202RS Rear Diff. Joint Set

Front Diff. Full SetHK218

Front & Rear Gear Differential

7,40 €

12,50 €

12,50 €

30,20 €

Hintere Diffausgänge (2 Stk.) + Pin

Vorderes Diff. komplett (all inclusive)



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

3 of 12

HK220 Rear Diff Case 1

HK221 Rear Diff Cover 1

HK211 Diff. Case O-Ring 2

HK933 FH M2.5 x 8 4

HK203 Big Bevel Diff Gear 2

HK204 Small Bevel Diff Gear 4

HK205 Diff. Shaft 2

HK207 F&R Big Bevel Diff. Gear Shims 2

HK208 Small Bevel Diff. Gear Shims 4

HK209 Outside Diff. Joint Shims 2

HK210 Diff. Gear O-Ring 2

HK211 Diff. Case O-Ring 1

HK202R Rear Diff. Joint 2

HK203 Big Bevel Diff Gear 2

HK204 Small Bevel Diff Gear 4

HK205 Diff. Shaft 2

HK207 F&R Big Bevel Diff. Gear Shims 2

HK208 Small Bevel Diff. Gear Shims 4

HK209 Outside Diff. Joint Shims 2

HK210 Diff. Gear O-Ring 2

HK211 Diff. Case O-Ring 1

HK220 Rear Diff Case 1

HK221 Rear Diff Cover 1

HK487 D2 x 9.7 Pin 2

HK933 FH M2.5 x 8 4

HK220S Rear Diff.case Set

Rear Diff. Full SetHinteres Diff. komplett (all inclusive)

HK219 Diff. Gear Set

HK228

11,50 €

7,40 €

24,70 €

Diff. Innere Getriebe Teile Set

Hinteres Diffgehäuse Set (Gehäuse, Deckel, 
O-Ring, Schrauben)



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

4 of 12

HK300F Vorderes Dämpfer Set (2 Stk.) Front Shock Set 2 19,30 €

HK300R Hinteres Dämpfer Set (2 Stk.) Rear Shock Set 2 19,30 €

HK301M Dämpfer Membrane Mittel (4 Stk.) Shock Absorber Medium Hardness : Medium 4 2,80 €

HK302 Aluminium obere Dämpferkappe (2 Stk.) Aluminium upper Shock Cap 2 4,90 €

HK303 Dämpfer oberer Kugelkopf (4 Stk.) Shock Head Ball End 4 5,20 €

HK304F Vordere Dämpferkolbenplatte (4 Stk.) Front Shock Piston 4 5,70 €

HK304R Hintere Dämpferkolbenplatte (4 Stk.) Rear Shock Piston 4 5,70 €

HK305F Front Shock Shaft 2

HK312 Shock Pistons Shims 2

HK951 M2.5 Nut 2

HK305R Rear Shock Shaft 2

HK312 Shock Pistons Shims 2

HK951 M2.5 Nut 2

HK306 Alum. Shock Body 2

HK309 Alum. Lower Shock Cap 2

HK307 O-Ring Slims 8

HK311 Shock O-Ring 8

HK308 Alum. Spring Adj Nut 2

HK313 Adj Nut O-Ring 2

HK310F Vorderer untere Federteller (2 Stk.) Plastic Front Lower Spring Cap 2 3,30 €

HK310R Hinterer untere Federteller (2 Stk.) Plastic Rear Lower Spring Cap 2 3,30 €

HK321M Vordere Dämpferfeder Mittel (2 Stk.) Front Shock Spring (Medium) 2 4,00 €

HK331M Hintere Dämpferfeder Mittel (2 Stk.) Rear Shock Spring (Medium) 2 4,00 €

Front Shock Shaft Set

Aluminium Spring Adj. Nut SetHK308S

HK305FS

HK306S Aluminium Shock Body Set

Vorderes Kolbenstangen Set (2 Stk.)

Front & Rear Shock

HK305RS Rear Shock Shaft Set

3,40 €

34,00 €

13,50 €

5,70 €

4,60 €

HK307S Shock O-Ring Shims Set

Hinteres Kolbenstangen Set (2 Stk.)

Aluminium Dämpfergehäuse Set (2 Stk.)

Dämpfer O-Ring Set

Aluminium Federeinstellmutter + O-Ring (2 
Stk.)



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

5 of 12

HK400L Aluminium vordere obere BulkHead links Aluminium Front Upper BulkHead Left 1 12,50 €

HK400R Aluminium vordere obere BulkHead rechts Aluminium Front Upper BulkHead Right 1 12,50 €

HK401L Aluminium vordere untere BulkHead links Aluminium Front Lower BulkHead Left 1 17,40 €

HK401R Aluminium vordere untere BulkHead rechts Aluminium Front Lower BulkHead Right 1 17,40 €

HK402L Aluminium vorderer oberer Schwingen Halter 
links Aluminium Front Suspension Arm Holder Left 1 7,40 €

HK402R Aluminium vorderer oberer Schwingen Halter 
rechst

Aluminium Front Suspension Arm Holder 
Right 1 7,40 €

HK403 Aluminium vordere untere Schwingen 
Halterung

Aluminium Front Lower Suspension Arm 
Mount 1 6,30 €

HK404L Alum. Front Anti-Roll Bar Mount 1

HK404R Alum. Front Anti-Roll Bar Mount 1

HK404-1 Alum. Front Anti-Roll Bar Mount 
Collar 2

HK408 Aluminium Radmitnehmer (4 Stk.) Aluminium Hex Hub Adapter 4 14,50 €

HK410L Aluminium 2-gang Wellenhalter links Aluminium 2 Speed Shaft Stand Left 1 13,50 €

HK410R Aluminium 2-gang Wellenhalter rechts Aluminium 2 Speed Shaft Stand Right 1 15,50 €

HK411L Aluminium Hinterer oberer Getriebekasten 
links Aluminium Rear Upper BulkHead Left 1 10,50 €

HK411R Aluminium Hinterer oberer Getriebekasten 
rechts Aluminium Rear Upper BulkHead Right 1 10,50 €

HK412L Aluminium Hinterer unterer Getriebekasten 
links Aluminium Rear Lower BulkHead Left 1 15,50 €

HK412R Aluminium Hinterer unterer Getriebekasten 
rechts Aluminium Rear Lower BulkHead Right 1 15,50 €

HK413 Aluminium Hintere untere Schwingen 
Halterung, Aluminium Rear Lower Arm Holder 1 11,50 €

HK414 Aluminium Hinterer Abdeckung Aluminium Rear Back Cover 1 12,50 €

HK415 Alum Brake Arm Holder 1

HK107 2mm Carbon Brake Arm 1

HK112A 2mm Carbon Servo Saver Plate A 1

HK112B 2mm Carbon Servo Saver Plate B 1

HK112 2mm Carbon Servo Saver Plate

Aluminium Rear BulkHead

Aluminium Servo Saver

HK404 Aluminium Front Anti-Roll Bar Mount 25,70 €

11,50 €

5,20 €

Aluminium Front BulkHead

HK415S Aluminium Brake Arm Holder & Carbon Arm 
Set

Aluminium vorderes Stabilisator Halter Set

Aluminium Bremsarm Halterung + Carbon 
Arm

2mm Carbon Servo Saver Ackerman Platten 
(2 Stk.)



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

6 of 12

HK430 Alum Upper Servo Saver 1

HK431 Alum Bottom Servo Saver 1

HK432 Aluminium Servo Saver Aufnahme Aluminium Servo Saver Bearing Holder 1 4,00 €

HK433 Aluminium Servo Saver Steher Aluminium Servo Saver Shaft 1 6,30 €

HK434 Aluminium Servo Saver Feder Einstellmutter Aluminium Servo Saver Spring Adjustor Nut. 1 2,80 €

HK435 Servo Saver Feder Servo Saver Spring 1 2,80 €

HK436A Servo Horn für JR , KO, SANWA Steering Servo Horn for JR, KO, SANWA 1 5,20 €

HK436B Steering Servo Horn für FUTABA, SAVOX Steering Servo Horn for FUTABA, SAVOX 1 5,20 €

HK436C Servo Horn für HITEC Servo Horn for HITEC 1 5,20 €

HK440 Aluminium Mittelwellen Halterung Aluminium Centre Mount 1 11,50 €

HK441 Aluminium Motorträger Aluminium Engine Mount 1 19,30 €

HK450L Aluminium Radio Plattenhalterung links Aluminium Radio Plate Mount Left 1 8,50 €

HK450R Aluminium Radio Plattenhalterung rechts Aluminium Radio Plate Mount Right 1 11,50 €

HK954 Side Belt Bearing Nut 1

HK452 Belt Tension Shaft 1

HK453 Belt Bearing Housing (2 x Bearing 
include) 1

HK905 BH M3 x 12 1

HK460-16T Aluminium Riemenrad 16T Aluminium Pulley 16T 1 13,50 €

HK460-19T Aluminium Riemenrad 19T Aluminium Pulley 19T 1 16,40 €

HK460-20T Aluminium Brems Riemenrad 20T Aluminium Brake Pulley 20T 1 17,40 €

HK460-23T Aluminium Riemenrad 23T Aluminium Pulley 23T 1 17,40 €

HK460-24T Front Diff Pulley-24T 1

HK931 FH M2.0 x 5 4

HK430S

Aluminium Pulleys

HK451S Aluminium Belt Tension Shaft & Bearing 
Holder Set

HK460-24T

Aluminium Servo Saver Set

Aluminium Front Diff.pully 24T

21,10 €

9,50 €

Aluminium Vorderes Diff. Riemenrad 24T + 
Schrauben (M2x5) 9,50 €

Aluminium Middle Mount & Engine Shaft

Radio Plate Mount

Aluminium Riemenspanner Welle & Lager

Aluminium Servo Saver Arm Set



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

7 of 12

HK470 Aluminium 2-Gang Gehäuse Aluminium 2 Speed Gear Housing with 
Bearing 1 11,50 €

HK471 Alum. 1st Gear Housing 1

HK935 FH M3 x 6 3

HK472 Steel 2 Speed Adapter 1

HK473 Roll er Pin For 2 Speed Shoes 2

HK478 Spring For 2 Spped Shoes 2

HK550 2 Speed Shoe 2

HK912 SS M3 x 5 2

HK922 SH M2.5 x 12 2

HK480 Vordere Obere Querlenkerstifte (2 Stk.) Front Upper Arm Pin 2 4,00 €

HK481 Vordere Untere Querlenkerstifte (2 Stk.) Front Lower Arm Pin 2 4,00 €

HK482 Hintere Untere Querlenkerstifte (2 Stk.) Rear Lower Arm Pin 2 4,00 €

HK483 Vordere CVD Antriebswellen (2 Stk.) Front Spring Steel Universal Shaft 2 39,50 €

HK484 Hintere Alu Knochen (2 Stk.) Rear Dog Bone 2 10,50 €

HK484A Alum. Hintere Antriebsachse (2 Stk.) Alum.Rear Wheel Hub 2 9,50 €

HK485Ti Mittlere Titan Welle (option) Middle Titanium Shaft 1 11,50 €

HK486 2-Gang Antriebswelle 2 Speed Steel Shaft 1 11,50 €

HK487 D2x9.7 Pin 11

HK488 D2x12 Pin 1

HK489 Stahl Bremsscheibe Steel Brake Disc 1 8,50 €

HK490 Aluminium Bremsansteuerungswelle Aluminium Brake Cam Post 1 4,00 €

HK491 Kraftstofftank Steher (3 Stk.) Fuel Tank Support Shaft 3 5,20 €

HK500 Vordere obere Querlenker (2 Stk.) Front Upper Arm HK500 Front Upper Arm 2 6,30 €

HK471 Aluminium 1st Gear Housing with One-way 
Bearing

HK493 HK-1 Pin Set

2 Speed Shoes & Adapter SetHK474

16,40 €

Front Pivot Pin& Universal Shaft&Brake System Metal Parts

Plastic Parts

HK-1 Pin Set D2x9.7 & D2x12

2 Speed Aluminium & Steel Parts

11,50 €

8,50 €

Aluminium 1-Gang Gehäuse + Schrauben

2-Gang Schuhe + Adapter



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

8 of 12

HK501 Front Lower Arm 2

HK505A Front Lower Arm Spacer 2mm 2

HK505B Front Lower Arm Collar 2mm 2

HK502L Front Knuckle Arm Left 1

HK502R Front Knuckle Arm Right 1

HK503 Hintere Radträger (2 Stk.) Rear Hub 2 7,40 €

HK504 Hintere untere Querlenker (2 Stk.) Rear Lower Arm 2 7,40 €

2

2

HK506A 1mm Caster Clips 6

HK506B 2mm Caster Clips 4

HK507A1 Roll Centre Collar A1 4

HK508B1 Roll Centre Collar B1 4

HK507A2 Roll Centre Collar A2 4

HK508B2 Roll Centre Collar B2 4

HK510 Plastic Handgriff Set Plastic Handle Set HK510 Handle 2 4,00 €

HK520 Recevice Case 1

HK521 Recevice Case Cover 1

HK529 Reciver Tray 1

HK926  SH M2.0 x 16 1

HK536A Link Plastic 16mm 4

HK536C Link Plastic 21mm 4

HK536B Kugelpfanne 17.5mm (8 Stk.) Link Plastic 17.5mm HK536B 8 9,50 €

HK537 5.8mm Kugelkopf für Stabi hinten (4 Stk.) 5.8mm Small Ball End For Roll Bar HK537 4 5,20 €

HK550 2-Gang Schuhe (2 Stk.) 2 Speed Gear Box Shoe HK550 2 5,20 €

HK551-59T 1st Gang Zahnrad 59T 1st Spur Gear 59T HK550-59T 1 6,30 €

HK552-54T 2nd Gang Zahnrad 54T 2nd Spur Gear 54T HK551-54T 1 6,30 €

Front Lower Arm Spacer and Collar Set (CNC 
machined)

HK501 Front Lower Arm

Vordere Lenkhebel links & rechts

HK520FS Empfänger Gehäuse Set

Front Knuckle Arm Left & RightHK502

1mm&2mm Caster Clips (CNC machined)HK506

HK505S

Link Plastic 16mm&21mmHK536 Kugelpfannen 16mm & 21mm (each 4 Stk.)

Roll Centre Collar Set A (CNC machined)HK509A

7,40 €Vordere untere Querlenker m. Spacern (2 
Stk.)

6,30 €

4,60 €

7,40 €

11,50 €

11,50 €

6,30 €

9,50 €

Vordere untere Querlenker Spacer und 
Abstands Set CNC

1mm & 2mm Nachlauf Clips Set

Roll Centre Hülse Set A (4+4 Stk.)

Roll Centre Hülse Set B (4+4 Stk.)HK509B Roll Centre Collar Set B (CNC machined)

Receiver Case Set



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

9 of 12

HK563 Diff Riemenspann Excenter (4 Stk.) Bearing Busing 4 4,00 €

HK564 Pivot Ball  Muttern CNC (8 Stk.) Ball Cup Screw (CNC machined) 8 10,50 €

HK522 Steering Servo Mount 1

HK522L Steering Servo Mount (for Low CG 
Servo) 1

HK523 Streering Servo Holder 2

HK524A Throttle Servo  Holder A 1

HK525B1 Throttle Servo  Holder B1 
HITEC,SAVOX 1

HK525B2 Throttle Servo Holder B2 
KO,FUTABA 1

HK525B3 Throttle Servo Holder B3 
SANWA,JR 1

HK526A Servo Shims 7.5mm 2

HK526B Servo Shims 8.5mm 2

HK526C Servo Shims 9.5mm 2

HK526D Servo Shims 10.5mm 2

HK527 Switch Plate 1

HK527A Servo Shims 1.0mm 2

HK527B Servo Shims 2.0mm 2

HK527C Servo Shims 3.0mm 2

HK528-1 Brake Adjust Nut 1

HK528-2 Linkage Pivot 2

HK528-3 Throttle Servo Link Cap 1

HK528-4 Linkage Stopper 4

HK528-5 Throttle Link 1

HK528-6 Brake Post Link 1

HK982 Throttle Spring 2

HK921 SH M2.5 x 8 2

HK951 M2.5 Nut 2

Linkage SetHK571

Plastic Radio Parts SetHK570 Plastik Radio Tray Teile Set

Gas & Bremsgestänge Set

19,30 €

11,50 €



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

10 of 12

HK530 Bat Head Bumper 1

HK531 Lower Bumper 1

HK532 Front Body Post 3

HK533 Rear Body Post 2

HK534 4.8mm Ball End 2

HK535 5.8 L Type Ball End 2

HK600 Centax Kupplungsset (kompl.) Clutch System(set) 1 69,40 €

HK601 Stahl Kupplungsglocke Steel Clutch Bell 1 15,50 €

HK602-16T Ritzel 16T Pinion Gear 16T 1 8,5,

HK603-21T Ritzel 21T Pinion Gear 21T 1 9,50 €

HK604 Flywheel Flywheel 1 11,50 €

HK605-6 Fly Wheel Collar 6mm 1

HK605-7 Fly Wheel Collar 7mm 1

HK606 Schwungscheibenmutter Flywheel Nut 1 5,20 €

HK607 Kupplungshülse Clutch Bell Bushing 1 4,00 €

HK608 Kupplungsdruckkörper Clutch Flyweight 3 14,50 €

HK609 Kupplungsscheibe Clutch Disc 1 5,20 €

HK610Y Kupplungsbelag (gelb) Clutch Shoe (yellow) 1 11,50 €

HK611 Kupplungsfeder Clutch Spring 1 4,00 €

HK612 Kupplungsfederteller Clutch Catch 1 4,00 €

HK613 Kupplungsfedermutter Clutch Nut. 1 4,00 €

HK614 Kupplungsdrucklager Trust Bearing 1 4,00 €

HK801Ti-23 Titanium Turnbuckle 23mm 5

HK801Ti-48 Titanium Turnbuckle 48mm 2

HK801Ti-23 Titanium Gewindestange 23mm (5 Stk.) Titanium Turnbuckle 23mm 5 23,80 €

HK800Ti Titanium Turnbuckle(H-K1 Set)

Clutch System

HK574 Plastic Ball End Set

HK605S Fly Wheel Collar 6mm& 7mm

Bat–Head Bumper Set

HK573 Body Post Set

6,30 €

6,30 €

5,20 €

5,20 €

33,00 €

Titanium Turnbuckle &Pivot Ball

Titanium Gewindestangen (23mm & 48mm 
Set)

Bat–Head Rammer Plastik Set

Karosseriesteher Set

Kugelpfannen Set Lenkung & Gas

Schwungscheiben Konus 6mm & 7mm

HK572



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

11 of 12

HK801Ti-48 Titanium Gewindestange 48mm (2 Stk.) Titanium Turnbuckle 48mm 2 12,50 €

HK850S Kugelkopf 5.8mm Hex (8 Stk.) Ball Universal 5.8mm Hex 8 7,40 €

HK850L Kugelkopf 6.4mm Hex (15 Stk.) Ball Universal 6.4mm Hex 15 12,50 €

HK851 Kugelkopf + Gewinde 4.8mm (4 Stk.) Ball Stud 4.8mm 4 8,50 €

HK852 8.5mm Pivot Ball (8 Stk.) 8.5mm Ball Screw 8 16,40 €

HK853 Hintere Kugelköpfe Stabi (4 Stk.) Rear Anti Roll Bar Ball 4 10,50 €

HK900 H-K1 Schrauben Set (inkl. aller Zylinder, 
Linsen, Senkkopf Schrauben)

H-K1 Screw Set (for complete car ball head, 
flat head, socket head) 25,70 €

HK911 Set (SS)Screw (M3x3) x15 15

HK912 Set (SS)Screw (M3x5)x5 5

HK913 Set (SS)Screw (M3x8)x15 15

HK914 Set (SS)Screw (M3x16)x5 5

HK915 Set (SS)Screw (M4x4)x5 5

HK916 set(SS)Screw (M4x6)x5 5

HK951 Lock Nut M2.5 x5 6

HK952 Lock Nut M3 x5 2

HK953 Lock Nut M4x5 4

HK954 Side Belt Bearing Nut 1

HK962 E-clip für 6.0pin E-clip For 6.0pin 10 2,80 €

HK965 Karosserie Clip (kurz) Body Clip(short) 5 4,00 €

HK966 Karosserie Clip (lang) Body Clip(long) 5 5,20 €

HK971 Hülse 3x6x5 (2 Stk.) Collar 3x6x5 4 4,00 €

HK972A S 5x7x0.1 Shims 10

HK972B S 5x7x0.2 Shims 10

HK972C S 5x7x0.3 Shims 10

HK972D S 5x7x0.4 Shims 10

HK972E S 5x7x0.5 Shims 10

HK950 H-K1 Lock Nut SetH-K1 Stopmuttern & Riemenspannmuttern Set

HK910 H-K1 Set Screw Set

Cluth Shim SetHK970

6,30 €

9,00 €

H-K1 Madenschrauben Set

4,00 €

Kupplungs Shim Set (5x7xX)

Screw & Other Small Parts



KM H-K1 Robitronic Parts Price List Up-dated: 2010/05/18

12 of 12

HK975 Hülse 3x6x3.5 (5 Stk.) Collar 3x6x3.5 5 4,00 €

HK976 Hintere Stabi Stopper (2 Stk.) Rear Anti-Roll Bar Stopper 2 2,80 €

HK977 Kraftstofftank Gummi (unten) (6 Stk.) Fuel Tank Shaft Rubber (Bottom) 6 3,40 €

HK978 Kraftstofftank Gummi (oben) (6 Stk.) Fuel Tank Shaft Rubber (Top) 6 5,70 €

HK979 Kraftstoffschlauch (2 Stk.) Fuel Tube 2 4,10 €

HK981 Federn für Bremsplatten (4 Stk.) Spring For Carbon Brake 4 2,80 €

HK982 Gasgestänge Feder (4 Stk.) Spring For Throttle-2 4 2,80 €

HK990 Hintere Stabi 2,0mm Rear Anti-Roll Bar 2.0 1 2,80 €

HK995 Resorohr Befestigungsfeder Muffler Stay Spring Link 1 2,90 €

HK1003 Silicone Oberdeck O-Ring (3 Stk.) Upper Deck O-Ring 6 2,80 €

HK-B6124 6x12x4 Steel Bearing 6

HK-B6124C 6x12x4 Ceremic Bearing 2

HK-B10154 10x15x4 Steel Bearing 8

HK1100 20ml 500 Silicone Öl 20ml 500 Silicone Oil 1 5,20 €

HK1200 20ml 60000 Silicone Öl 20ml 60000 Silicone Oil 1 5,20 €

HK1300 20ml 300000 Silicone Öl 20ml 300000 Silicone Oil 1 8,50 €

HK177 Hintere Riemen Rear Belt 1 7,40 €

HK192 Vordere Riemen Front Belt 1 7,40 €

HK387 Mittlere Riemen Middle Belt 1 9,50 €

Silicone Oil & Pulley Belt

Low Friction Belt

HK-B100S HK-1 Bearing Set 25,70 €

Bearing

HK-1 Kugellager Set (kompl. Set)


	part lists(sales)

